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What are the product; formed during hydrolysiz of Sucrose?
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SECTION-B 5 Gl o,
Write down the intercep and slope of the straight ling oblained
b the plot of Am vs O for a strong electrolyvie,
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11, Write the Nemst '—‘fil’ﬁT iom of the following redox reaction
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16. Inaplotof A
for strong ap
conductivity
SUggesl aw

m Ogaing, the square root of concentration (C'7)
d weak clecirolyte, the value of limiting molar
of'aweak eleesralyte cannot be obtained graphically
ay 10 oblain ()i, value. Also state the related law
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17. Which of the following compounds undergo S .1 and S, 2 reaction
(@) (CH,),C-Cl (b) CHCH.LI

(8. Name adisease caused duc to deficiency of Vitamin D and name
a fat soluble vitamin? ), £, K#
at solubic vitamin:
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SECTION-C

19. A firstorder. reaction.is 60% completed in 20 mins. Calculate the
" time required {Of thE completion 090% of the reaction.
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(@) Transition memis and their compounds arg coloured. 7 @/ 2

NVoutant d ~ %/Wo/—f/ banardony  and W 4 e,
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(b) In the titrations of FeSO, with KmnO, in acidic medium, o/_
dilute HCl is notused.
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23. Givechemical testto dn;tmgmsh between the f‘o}Iov. ing pairs of
ﬁe 3L

compounds - 3 +de—? @
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i (a) ResommollandBenrylalcohol benz 7[

FLQ{%W alubion ek jith fomic OK/M
{b) Allyl chlorideand Vinyl chloride | ¢ N

CH,=CH~Cx £ N 0F =5 M0 Ruackion
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25. Draw the Crystal Field Energy Jovel diagram of an octahedral
complex ML,
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Clons of an electrochemical cell are given below:

(ag)+5e —Mr?" (aq)+ 41,0 (1), E° = 41 SV

Snz. y
Consin (QQ)“Sn"(aq)*— 2¢ , [" =015V
N ICL Y . .
and pregdi lh!' redoy cquation from the two half-cell reactions
d CUIT this reaction (avours formation of reactants or
Product showp,

in the equation.

Ll = £ ) thale = EF  anoe
= 5] —(15) =l.¢cV

Indicate (he types of isomerism's exhibited by the complex
[CoNH,),(NG )] (NO,)... (At no. Co=27)
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_D//v//‘;!,’[; () W.hal isthe diﬁ?l’erggc‘}b;twccn adouble salt and complex? .

mopLh S 50, .gHza Giveexample. 2 = oo bl btk aom e - - o

27. (a)

f,ZSOz,U"”“)l bihon addod & proke . Complons <ol
W (c) Draw the structural formula of i-phenylpropan-i-onc MW
- cN)L molecule e — ¢ & [ and

L[ Fe (e » ~ (M i — o) mele ?
SECTION-D B ol

| 28. (a) Awmmangethe following compounds in an increasing order of
their reactivity innucleophilic - addition reactions: cthanal,
propanal, propaneng, butanonc.

Bdamene { prparnese { poparal { Eparal
Sy s (2) offort rtiassh, claness of alost by o
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(LY Gived chemical test to distinguish between Ethana an‘d p L
propanal. "LO(UP
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Give the structure and TUPAC name of the product formea .,/

& \when propanone is reacted with methylmagnesium bromide M
l’ollowcd by hydrolysis. - 3
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- CH B 7- mathy
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e W [Co(NI y 1 is an inner orbital complex
whereas [Ni( {T\“,)L] is an inner | g

NH,) 12 i< an ou i nlex
% —Al no. Co=n 'J"zs] is an outer orbital complex.
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oDl ®) Show that 1y o w’ /e

(9’?]9' comple m I a first order reaction, time required for
—pielion of 99.99; s 10 times of half-life (t,,) of the

reaction. 2
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797 = £.%03 / /03_ £.909 =[(ox £:707
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(@)  Carboxylic acide - , L = 0K bagq,.
: r Q"f“’c amdi do not give characteristic reactions of
carbonyl group. Explain why? 1
fos 2 L o v e i Jesovance annd
g Ll ondone  afom forn  elechsphils -
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